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Finding Rule w/ Two Steps

Name:

Deter mine which rule best represents the expression the function machine used.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

Input (T) 2 7 6 9 8
Output 5110 9 |12 | 11
Input (V) 8 7 6 9 2
Output 80| 70 | 60 | 90 | 20
Input (G) 8 7 6 9 2
Output 46 | 39 | 32 | 53 | 4
Input (Y) 7| 2 8 9 6
Output 72 122 |8 | 92| 62
Input (R) 2 | 7 8 6 9
Output 12 | 27 | 30 | 24 | 33
Input (F) 8 6 7 2 9
Output 78 | 58 | 68 | 18 | 88
Input (U) 2 6 9 7 8
Output 7 11114 | 12 | 13
Input (H) | 17 | 18 | 19 | 16 | 12
Output 7 8 9 6 2
Input (Q) 2 9 6 7 8
Output 8 |36 |24 28| 32
Input(2) | 1315|116 | 9 | 14
Output 6 8 9 2 7
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Answers

B.Tx8+6
D.Tx6

B.V x10-10
D.V+10
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B.Yx14+2
D.Y x10-3
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10.

B.Fx10+1
D.Fx10-2

B.Ux7-10
D.Ux5+13

B.H-10
D.Hx14+9

B.Qx4
D.Q+4

B.Zx7+8
D.Z-7
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C:# Finding Rule w/ Two Steps Name: Answer Key

Deter mine which rule best represents the expression the function machine used. Answers
D| nput(r) | 2| 7| 6| 9| 8| AT+3 B.Tx8+6 A
Output 510 9 |12 | 11| C.Tx2-6 D.Tx6 S
2. C
2| Input(v) | 8| 76| 9| 2| AVx10+6 B.V x10- 10 5
Output | 80|70 | 60] 9 | 20| C.vx10 D.V +10 3
s A
3 | Input@G) | 8| 7|6 |9 ]| 2| AGx10 B.Gx7-10 C
Output | 46 |39 |32 |53| 4 | C.Gx10+10 D.G+10 >
6. D
A | Input(y) | 7| 2| 8| 9| 6| AYXx10+2 B.Y x14+2 A
Output | 72|22 |8 |92 |62| CYx9-2 D.Y x10-3 k
8 B
S| Input(R) | 2 | 7| 8| 6| 9| ARx6 B.Rx7+6 B
Output | 12 | 27 | 30 | 24 | 33| C.Rx3+6 D.R+6 °
0. D
6) | Input(F) | 8| 6| 7| 2| 9| AFx11-2 B.Fx10+1
Output | 78 |58 |68 |18 |8 | C.F+10 D.Fx10-2
N nputu) | 2| 6| 9| 7] 8] AU+5 B.Ux 7-10
Output 7 |11 |14 |12|13| CU+10 D.Ux5+13
8 | Input(H) | 17 | 18 | 19 | 16 | 12 | A.H+10 B.H-10
Output 718|196 ]| 2| CHxI10 D.Hx14+9
9D | Input(@Q) | 2| 9| 6| 7| 8| AQx4+5 B.Qx4
Output 8 | 36|24 |28|32| CQx9+6 D.Q+4
10) | Input(z) | 13| 15| 16| 9 | 14| A.Zx9+9 B.Zx7+8
Output 6 8 9 2 7 C.Zx7 D.Z-7
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